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DIPLOMA SECURITY MANAGEMENT (DSM) 

Term-End Examination 

June, 2014 

BSEI-009 : CRISIS MANAGEMENT 

Time : 3 hours 	
Maximum Marks : 100 

Note : (i) Q.1 Attempt all questions. 

(ii) Q. 2 Attempt any seven questions out of ten. 

(iii) Q. 3 Attempt any three questions out of five. 

SECTION - A 

1. 	(a) Fill in the blanks. 	 10x1=10 

(i) The purpose of emergency planning 
is to protect life and 	 

(ii) The technical crisis are caused by the 

C
\ 

c\,1 
	 by human beings. 

C\..1 	(iii) The rumours affects the organisation 

(iv) The security staff should maintain 
healthy relations with fire stations, 
hospitals, security organisations and 

(v) The focal point of the entire activities 
during emergency is known as 

(vi) During emergency a long whistle 
blown 	times indicates the 
evacuation of a building. 

(vii) Remember that minor disputes can 
lead to serious 	 
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(viii) The evacuation during emergency 
should be carried out 	  

(ix) There should be no 	 in the 
exit route. 

(x) For fire 	 gas is essential. 

SECTION - B 

(b) Tick (✓ ) or (X) (Right or Wrong) : 	10x1=10 
The security staff should leave their 
post during evacuation process. 

(ii) The static electric current is caused by 
the friction of two non-conducting 
items. 

(iii) The inferior insulation and naked ( ) 
wires are the major cause of fire. 

(iv) Use foam type fire extinguisher to fight 
'A' class fire. 

(v) There are two types of foam type fire 
extinguisher, Chemical and 
Mechanical. 

(vi) The fire extinguisher should be placed 
in such a place that common people 
may not see it. 

(vii) The rising mains are of four types. 

(viii) The contact telephone number of 
police, ambulance and fire brigade 
should be available at security post. 

(ix) The electric fire is categorised under 
class 'C'. 

(i) 
( ) 

( ) 

( ) 
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(x) The threat call creates chaos and 
anarchy at the Industries and 
establishments. This situation should 
be dealed with calm and peace. 

Match the following : 
The large fires are caused by their mix. 

(i) 
Phosphorus 
and Barium 

(A)  Flax or Lin - Seed 

Terpentine and 
Chlorin 

(B)  With Water 

Potassium and 
Sodium 

(C)  
Mixing with each 
other (in contact) 

(iv) 
The sun rays 
and wet tatters 

(D)  Contact with air 

2. 	Answer any seven questions from the following : 

(a) How to contain the fire extinguishing ? 7x6=42 

(b) Define which is the most appropriate 
method of controlling the fire of metal and 
metal powder. Comment. 

(c) Which fire extinguisher is used to fight fire 
in computer room, and why ? 
What is fire ? Discuss. 
What are the causes of 'Mob' and 
'Crowd' ? 
Where are the fire extinguishers placed ? 
State. 
What are the procedures to evacuate the 
buildings ? 

(c) 4x2=8 

(d)  
(e)  

(f)  

(g)  
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h) What steps should an employee follow in 
the event of fire ? 

(i) State the need of training for fighting fire in 
crisis. 

(j) Write a note on the final report on calamity. 

3. Attempt any three from the following 
questions : 	 3x10=30 
(a) What are the main objectives of Crisis 

Management ? Discuss the Crisis Control 
Room in it. 

(b) Which are the crisis you encounter at work 
place ? Write in detail about any three, 

(c) How would you deal with a person making 
a call in case of Bomb Threat ? Write. 

(d) What do you understand by rising main ? 
Discuss all types of rising main. 

(e) Which are the places where Carbon-Dioxide 
installations are fixed ? Discuss in detail. 
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